Bid #S2111206B1 - Sign Posts and Footers

Creation Date May 24, 2016 End Date Jun 24, 2016 2:00:00 PM EDT

Start Date Jun 3, 2016 10:56:22 AM EDT Awarded Date Not Yet Awarded

S2111206B101-01 10-Foot Square Tube Sign	Post					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ultimate Highway Solutions	First Offer - \$26.31	5000 / each	\$131,550.00		Υ	
Agency Notes:		Supplier Product Code: 2.5 Supplier Notes: Warranty Offered: 1 Year Delivery After P.O. (calendar days): 3 Weeks				
Allied Tube & Conduit [Ad]	First Offer - \$27.35	5000 / each	\$136,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered: 1 year Delivery After P.O. (calendar days): 30 Days				
Xcessories Squared	First Offer - \$35.45	5000 / each	\$177,250.00	Υ	Υ	
Product Code: Agency Notes:		acceptance	e: nty Offered: 1 year from o lendar days): 30 Days AR		rial	
TomaSiou Enterprises, Inc.	First Offer - \$50.12	5000 / each	\$250,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Warra Delivery After P.O. (cal	nty Offered: 1 yr			
imex innovative co [Ad]	First Offer - \$51.00	5000 / each	\$255,000.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Warra Delivery After P.O. (cal	nty Offered: 1 year			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ultimate Highway Solutions	First Offer - \$21.63	5000 / each	\$108,150.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes: Warra Delivery After P.O. (cal	nty Offered: 1 Year			
Xcessories Squared	First Offer - \$29.50	5000 / each	\$147,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Warranty Offered: 1 year from date of material acceptance Delivery After P.O. (calendar days): 30 Days ARO				
TomaSiou Enterprises, Inc.	First Offer - \$33.60	5000 / each	\$168,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes: Warra Delivery After P.O. (cal	nty Offered: 1 yr			
Allied Tube & Conduit [Ad]	First Offer - \$34.10	5000 / each	\$170,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes: Warra Delivery After P.O. (cal	nty Offered: 1 year			
imex innovative co [Ad]	First Offer - \$35.00	5000 / each	\$175,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Warra			

Delivery After P.O. (calendar days): 30 days

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ultimate Highway Solutions	First Offer - \$31.55	2000 / each	\$63,100.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes: Warral Delivery After P.O. (cal	nty Offered: 1 Year			
Allied Tube & Conduit [Ad]	First Offer - \$32.82	2000 / each	\$65,640.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Warranty Offered: 1 year Delivery After P.O. (calendar days): 30 Days				
imex innovative co [Ad]	First Offer - \$44.00	2000 / each	\$88,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered: 1 year Delivery After P.O. (calendar days): 30 days			
Xcessories Squared	First Offer - \$50.56	2000 / each	\$101,120.00		Υ
Product Code: Agency Notes:	acceptance	o: nty Offered: 1 year from o endar days): 30 Days AR		erial	
TomaSiou Enterprises, Inc.	First Offer - \$60.15	2000 / each	\$120,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered: 1 yr Delivery After P.O. (calendar days): 30			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ultimate Highway Solutions	First Offer - \$21.63	2000 / each	\$43,260.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: 3"SQ x 7ga x 42" anchor Supplier Notes: Warranty Offered: 1 Year Delivery After P.O. (calendar days): 3 Weeks				
TomaSiou Enterprises, Inc.	First Offer - \$33.60	2000 / each	\$67,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warrant Delivery After P.O. (caler	•			
imex innovative co [Ad]	First Offer - \$37.00	2000 / each	\$74,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered: 1 year Delivery After P.O. (calendar days): 30 days				
Xcessories Squared	First Offer - \$93.00	2000 / each	\$186,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warrant acceptance Delivery After P.O. (caler	•		erial	
Allied Tube & Conduit [Ad]	First Offer - \$107.57	2000 / each	\$215,140.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered: 1 year Delivery After P.O. (calendar days): 30 Days				

	County	County Commissioners			e 3 of 4
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ultimate Highway Solutions	First Offer - \$31.55	2000 / each	\$63,100.00		Υ
Product Code: Agency Notes:	Supplier Product Code: 2.5 Supplier Notes: Warranty Offered: 1 Year Delivery After P.O. (calendar days): 3 Weeks				
Allied Tube & Conduit [Ad]	First Offer - \$32.82	2000 / each	\$65,640.00		Υ
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Warranty Offered: 1 year Delivery After P.O. (calendar days): 30 Days					
imex innovative co [Ad]	First Offer - \$50.00	2000 / each	\$100,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Warranty Offered: 1 year Delivery After P.O. (calendar days): 30 days				
Xcessories Squared	First Offer - \$50.56	2000 / each	\$101,120.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes: Warra	: nty Offered: 1 year from	date of mate	rial	
		acceptance Delivery After P.O. (cal	endar days): 30 Days AF	RO	
TomaSiou Enterprises, Inc.	First Offer - \$60.15	'	endar days): 30 Days AF	RO	Υ

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ultimate Highway Solutions	First Offer - \$21.63	2000 / each	\$43,260.00		Υ
Product Code: Agency Notes:	Supplier Product Code: 3"SQ x 7ga x 42" anchor Supplier Notes: Warranty Offered: 1 Year Delivery After P.O. (calendar days): 3 Weeks				
TomaSiou Enterprises, Inc.	First Offer - \$33.60	2000 / each	\$67,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered: 1 yr Delivery After P.O. (calendar days): 30			
imex innovative co [Ad]	First Offer - \$47.00	2000 / each	\$94,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered: 1 year Delivery After P.O. (calendar days): 30 days			
Xcessories Squared	First Offer - \$93.00	2000 / each	\$186,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Warranty Offered: 1 Year from date of material acceptance Delivery After P.O. (calendar days): 30 Days ARO			erial	
Allied Tube & Conduit [Ad]	First Offer - \$107.57	2000 / each	\$215,140.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Warranty Offered: 1 year Delivery After P.O. (calendar days): 30 Days			

Sunn	liar	Tota	le

Ultimate Highway Solutions		\$452,420.00	(6/6 items)
Bid Contact Brooks Kolenic	Address GRAND HAVEN, MI 49417		

		ounty commissioners	ı	age 4 of 4
	brooks@uhsolutions.net Ph 888-366-9220			
Agency Notes	s:	Supplier Notes:		
imex innova	tive co [Ad]		\$786,000.00	(6/6 items
Bid Contact	Jose Jaramillo imexinnovativeco@gmail.com Ph 786-973-0100	Address 5811 sw 88 st 33156 miami, FL 33156		
Qualifications	s SB			
Agency Notes	S:	Supplier Notes:		
TomaSiou E	nterprises, Inc.		\$793,600.00	(6/6 items)
Bid Contact	PIERRE SIOU pierres80808@gmail.com Ph 954-987-1661	Address 3641 N. 33rd TERRACE HOLLYWOOD, FL 33021		
Supplier Cod	e VC0000103255			
Qualifications	S CBE MBE SB SBE			
Agency Notes	s:	Supplier Notes:		
Allied Tube 8	& Conduit [Ad]		\$868,810.00	(6/6 items
1	Dan Kuzniewski telespar@alliedtube.com Ph 708-339·1610	Address 16100 S. Lathrop Ave. Harvey,, IL 60426		
Agency Notes	s:	Supplier Notes:		
Xcessories	Squared		\$898,990.00	(6/6 items
	Scott Beck sbeck@x·sqrd.com Ph 217-438·3535	Address PO Box 135 Auburn, IL 62615		
Agency Notes	s:	Supplier Notes:		